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PQ ; P=Q e | PiQ In AND operator dot (-) means that P and Q@ may & 5
I I —— M\.-—e-— also be written as: l __\1
L (1000) x (i e \ ‘ 1{—/-'/.wdl'fu((_3)m ‘
o B The binary equivalent of decimal number (31018t
\ G« ( 2.8 1-16 Lfﬁ)lﬁlrlﬁ}duﬁdel 3
I The decimal number system consists of digits: \
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Determine Analysis

) ) i ‘ Before problem ‘solving, we need to first
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Divide and

Which strategy divides a complex problem into
L ACI_EL&“J __conquer Prototype smaller problems?
IR ¥ B snJl e
!L__ Cipher text Plain text Pas_,swdrd THe encrypted data is called:
| .
‘l < htmi > } < title > éu’jb)l"”"-’
- - N _element is container for meta data. l

%..C)PJ Uy | /g 4\1

2K :4,.@)(;,5&7‘!;15’& 9 J

( Copyright | is a way to protect an idea.
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lnformauon Address Message Protocol The receiver must be capable of accepting the:

Patent Piracy
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( part
Write short answers to any FOUR parts.
List five "Ws" to understand a problem.
What is the role of algorithm in solving a problem?
How is a flowchart constructed?

Give any two examples of storage devices.

(U ferla

Fow hexadecimal system convert into decimal system?

Convert (11011); into decimal number system.
Write short answers to any FOUR parts.
Draw truth table for A'B.

What is meant by truth value?

Write two examples of proposition.

Write two examples of IPV6 address.

Define FTP protocol.

Define internet.

Write short answers to any FOUR parts.
What is DOS attack?

Describe two characteristics of a phishing website.
Write a HTML code to add horizontal line.

Write HTML code to make word "student” [talic.

Describe the steps involve for creating the webpage.

Define web surfing.
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Part - 11, Attemptany TWO questions. -Each question carries 08 marks.

What is test data? Write three types'oftest data.
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Define TCP/IP protocol. Further describe two layers of network layered model.
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What is encryption? Explain the importance of encryption for everyday life on the internet.
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Information Address Message Protocol The receiver must be capable of accepting the:
J'Jd}('; A (ﬁ.}& \.if/ljd_:b/ L,@)’E/&EWJL:?TJ 2
Trade secret Patent Piracy Copyright 1s a way to protect an idea.
L U G st A a2 bt/ el bile_ss 50000 i Ex | 3
: L : o I ( y !
3 Advance fee
V‘ Piracy fdentity thett i Hacking ?Jﬁ()(,dfdr’l,)/} V,:)’ﬂdr”f{_d@:’
1
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% . xlsx . doc . xhiml . htmt "w‘,‘" JW'W e i f{v d" "’; fc‘/"‘a 4
L . . To save the w-,bpage weuse .. S as file, extenbxon
i
| Ly e Ulnd L ig /a«vﬁrtﬁ’u y(’,.ﬂ 5
Lo tuble> <> \ Uk - On webpage to give the numbers before friit's shame
i which tag wxll b»"— used?
| P . 7 ki . - - i
| L_,::’/:4 a3 Nl e 3§—d/ﬂ¢<./:—‘dk)’¢’u‘<> 6
. Progress Output Input Decision | The <> symbol in a flowchart indicates:
£l e 5 i e KUK I e 7
Privacy Browsing Right Piracy means making illegal copies.
16 8 10 2 PRY-NATRIS Bl
! The base of hexadecimal number system is:
{1 (':/ d;,{’d,}.ﬁ O’J!‘:U/I'{_f :c_dl‘/uﬁjbt 9
ROM RAM Seanniary PEIEEY Hard disk is an example of:
memory nmemory
;‘_,J.?;J?:'é,f f—L;‘:Z'/T ?.,/f;la‘l' ﬁ;ﬂuwjbld g’},"ﬁ/’:; p= "C._J‘:Z'/T“/f‘ 10
Today'ds ol | wudusis iolid Today is Today is not . . s —_ :
By ay is holhiaay Sutidey ity If P = "Today is holiday" then P
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Write short answers to any FOUR parts. uL’J’/‘jLV']JJL?C—»dJ(
What is meant by act it out? (-'c‘_ Apfe s lul./g' ()
What is purpose of decision symbol in flowchart? ‘fc‘_blgy(b/gifymfdjv,%"gﬂ.wsg:ﬁ (i1}
What is meant by candid solution? ?g.)'/gc,gjyl’qu (i)
Convert (137);p into hexadecimal number system. _éfuf,»"uf J’d} v?’f (1370 (iv)
What is meant by number system? "c_)l/U/c;(Lb'de (v)
What is difference between memory and storage? te SAS LGS (Vi)
Write short answers to any FOUR parts. -é LL?/‘;LJ’]’JLPC'_—G/
Draw truth table for AND operator. -L-L’JZK)/ KsT AND (i)
Write commutative law of Boolean Algebra. _ﬁg,.bl:/u;’b K!} d‘-{:f (i1)
Write the use of truth table. _édb‘:"ﬁjf;fﬁ_/‘ (i)
What are different types of transmission medium? ' Ur Lj)f( Qldﬁ‘(fé,}‘ u%} (iv)
Why addressing is mandatory for data communication? fe. d/}ﬁu/.-f;’/ﬂu’ u»%_f; W)
Define mesh topology. ) J/JJJ)JU # o)
Write short answers to any FOUR parts. uUi/‘!Lfl]blog-Jf
What is confidentiality of data and information? o ‘éédJ!)J‘JJVL}l’}J}'&; (i)
Define hard disk loading. ,._ff_f.:b@/?‘fjb’ucﬁby (i)
What is use of < OL > tag? Describe it with HTML code. & uke ¥ HTML S teJeid £ o /6 <oL> il
Write the HTML code to make word "Pakistan" bold. i _éSJ(HTMLééL/:U)’I "Pakistan" £ (iv)

Define paired tag. i

_5’/..31/’ \_Jf5/fv (v)

% s,‘“‘f—dflf@” height s width & s d/lLJ <img> (vi)
What is difference between width and height atmbutes of‘% img > tag?
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Part - 11, Attempt any TWO questions. Each question carries 08 marks.

vé..yt-o: w&fuuf J!Jd../dpéf "LJ/lx(c:,d,v,r"”c,_LL./Jﬂ"

What is meant by planning of problem solving? Explain different strategies of problem solving.

..,.éu.lﬂ}/c:- Mufd)gua}ﬂ(f)g/b

Explain with detail difference between star topology and ring topology

AL s BB S B gy A1 B

Define phishing attack. Also write three characteristics of phishing Email and phishing website.
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